TotalMarks:.... Class:9th Time:....

Test:Math
Attempt ......... questions
1 3 1 . o 3 1
Factors of 27x" —— - :d/aa_[;[z: 27% ——
T /
a) (3x-1) (9x*+3 +‘1)512) a) (3x- %) (9x+3 +12) *
b) (3x+x) (9x*+3+52) b) (3x+3) (9x*+3 +13(I~2)
&) (3x-1) (9x2-3+ L) ) (3x-4) (973 + 1)
d) (3x+ 1) (9x>-3+ 1) d) (3x+x) (9x*-3+52)
° Factors of Gl 17xy - 12y2 5y . D -U,?'““"------'“-Q/‘.’L'Zlgisxz - 759 - 12y2 2
a) (x +4y), (5x + 3y) a) (x +4y), (5x +3y)
b) (x -4y), (5x - 3y) b) (x - 4y), (5x - 3y)
c) (x-4y), (5x +3y) c) (x - 4y), (5x +3y)
d) (5x -4y), (x+3y) d) (5x - 4y), (x + 3y)
3 Factors of a* - 4b" e oo __ugd/a,l/"léaé‘ - 4p°
2) (a-b), (@+b), (@ +4b) Q) (a; Dfa+b), @ 1 4b)
b) (a”-2b"),(a” + 22bh) 5 b) (a==2b), (a +2b) ,
¢) (a-b), (a$b), (g -4b) ©) gagb), @+ D), (@ -4b)
d) (a-2b),(a +2b) d) (a-2b), (a"+2b
4 Factors of 3% - X - 2 are ... Y, (Reverm— dﬁa,l‘/:’lﬁjgxz -x-2

Lad .

a)(x+1),(3x-2) b) (x+1), %)) a)(x+1),3x-2) b) (x+1),(3x+2)
¢c) x-1),3x-2)d) x-1),B3%*2) ¢) (x-1),3x-2)d) (x-1),(3x+2)

5 Factors of 8x° + 27y are ...\ Y fE— d./‘."LD’.'ILSX?’ +27y°
) (2x + 3y), (4 + 9) 2) (2x +3y), (4 +9y))
b) (2x-3y), (4959 b) (2x-3y), (4-9%)
c) (2x + 3y) (4)(2 “gxy +9y) ¢l [2x+3y)k (4)(2 - 6xy + 9y2)
d) (2x - 3y), (4x + 6xy +9y") d) (2x - 3y), (4x" + 6xy +9y)

6 The factor of x° - 5% + 6.ar¢ s Y S— dﬁu;znf_’xz -5%x+6
a) x+1,x-6 b) x-2,x-3 a) x+1,x-6 by x-2,x-3
c) x+6,x-1 d) x+2,x+3 c) x+6,x-1 d) x4 2.x+3

A 2

" What will be added to complete the YIS SNL LitpS6 92 - 12ab
squate of 927 -12ab? 0000 s ¢
a) -16b° b) 16b° a) -16b° b) 16b>
¢) 4b° d) -4b° c) 4b° d) -4b°

® Find m so that x°+ 4x + m is a complete nguid'/Jl{xz +4x+ mii:«éu{fm
SQUATE ...... 4
a) 8 b) -8 a) 8 b) -8
c) 4 d) 16 c) 4 d) 16
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